

INVESTMENT SUMMARY

Tyler Software	\$ 19,800
Services	\$ 13,000
Third-Party Products	\$ 14,500
Other Cost	\$0
Travel	\$ 1,385
Total One-Time Cost	\$ 48,685
Annual Recurring Fees/SaaS	\$ 1,616
Tyler Software Maintenance	\$ 4,843



Quoted By: Quote

Expiration:

Quote Name:

Durand Johnson 11/14/22 2022-323778-Y4P2K7, Sourcewell contract # 090320-TTI

Sales Quotation For:

City of Clearlake Police Department 14050 Olympic Dr Clearlake, CA 95422-8801

Phone: 7079948251

Shipping Address:

City of Clearlake Police Department 14050 Olympic Dr

Tyler Software

Tyler software					
					Year One
Description		License	Discount	License Total	Maintenance
Enforcement Mobile					
License					
LIC: REF License - iOS [2]		\$ 1,700	\$ 0	\$ 1,700	\$ 357
REF License - PDA [6]		\$ 5,100	\$ 0	\$ 5,100	\$ 1,071
	Total	\$ 6,800	\$0	\$ 6,800	\$ 1,428
Interface					
Interface into the Citation Processing Center		\$ 3,250	\$ 650	\$ 2,600	\$ 683
Interface: Sunridge Systems RIMS Records Mgmt System		\$ 3,250	\$ 650	\$ 2,600	\$ 683
Interface: Full Court Court Case Mgmt System		\$ 3,250	\$ 650	\$ 2,600	\$ 683
	Total	\$ 9,750	\$ 1,950	\$ 7,800	\$ 2,049
Task					
Parking: Standard (non-customized) Parking Task		\$ 3,250	\$ 650	\$ 2,600	\$ 683
Task: Code Enforcement		\$ 3,250	\$ 650	\$ 2,600	\$ 683
	Total	\$ 6,500	\$ 1,300	\$ 5,200	\$ 1,366
	TOTAL	\$ 23,050	\$ 3,250	\$ 19,800	\$ 4,843

Annual / SaaS

2022-323778-Y4P2K7 Page 1

Description	Quantity	Fee	Discount	Annual
Enforcement Mobile				
Hosting Fee				
Hosting Fee	1	\$ 1,616	\$ 0	\$ 1,616
	TOTAL			\$ 1,616

Services

Description	Quantity	Unit Price	Discount	Total	Maintenance
Enforcement Mobile					
Training	1	\$ 2,000	\$ 0	\$ 2,000	\$0
Set Up & Config	1	\$ 10,000	\$ 0	\$ 10,000	\$0
Project Management	1	\$ 1,000	\$0	\$ 1,000	\$0
	TOTAL			\$ 13,000	\$ 0

Third-Party Hardware, Software and Services

Description	Quantity	Unit Price	Total	Unit Maintenance	Year One Maintenance
Enforcement Mobile					
TC720L-0ME24B0-FT / Zebra EVM, HH, TC72, TAA Compliant, no cellular	6	\$ 1,343	\$ 8,058	\$ 0	\$0
RJ4230BL / Brother, Printer, Rugged Jet 4, Bluetooth	8	\$ 569	\$ 4,552	\$ 0	\$0
PA-BT-4000LI / Brother, Rugged Jet, Battery	4	\$ 111	\$ 444	\$ 0	\$0
PA-BC-003 / Brother, RJ4200 Series, Charging Station for Single Battery (for					
use with PA-BT-006 battery)	4	\$ 109	\$ 436	\$0	\$0
LB3690 / Brother, PocketJet, Rugged Jet, Vehicle Adapter-Cigarette Plug, 3 ft.	8	\$ 23	\$ 184	\$0	\$0
LB3834 / Brother, Pocketjet, Rugged Jet, AC Charger	8	\$ 50	\$ 400	\$0	\$ 0
RDM02U5 / Brother, Rugged Jet, Paper, Thermal, premium, 36 rolls per case	3	\$ 142	\$ 426	\$0	\$0
TOTAL			\$ 14,500		\$ 0

2022-323778-Y4P2K7 Page 2

Summary	One Time Fees	Recurring Fees
Total Tyler Software	\$ 19,800	\$ 4,843
Total Annual	\$ 0	\$ 1,616
Total Tyler Services	\$ 13,000	\$0
Total Third-Party Hardware, Software, Services	\$ 14,500	\$0
Summary Total	\$ 47,300	\$ 6,459
Contract Total	\$ 53,759	
Travel	\$ 1,385	

Comments

Agency is responsible for paying any applicable state taxes. Contract total does not include tax.

RETURN POLICY: When Hardware is included, Tyler will accept return of delivered hardware only within thirty (30) days of the date of delivery to you, and only if the hardware is returned sealed in its original packaging. Tyler will not issue any refund or credit for returned hardware that is not sealed in its original packaging and/or returned more than thirty (30) days after the date of delivery to you.

2022-323778-Y4P2K7 Page 3